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GWID:

Instructions

1. Write your name on page 17.

2. Write your GWID on each page. If you don’t know your GWID, write your birthdate
on each page.

3. Answer all questions.

4. The exam is graded out of 100 points; points are indicated on sections and questions.

5. Write legibly. Illegible exams cannot be graded.

6. The final page is intentionally left blank for extra work. If you do extra work on this
page (or any other non-standard location) that you would like to be counted, note it
clearly near the question you are answering.

7. Label all figures as needed.

8. We give liberal partial credit. If a question has multiple parts and you can’t answer
one, it is in your best interest to answer all the remaining parts to the best of your
ability.

9. Make sure you explain your answers as needed. When appropriate, you should also
explain any assumptions that you make to arrive at your answer. Explanations may
yield partia l credit.

10. Be concise.

For marking purposes only

Part A

Part B

Part C

total

1



A. Ripped From the Headlines (9 points total, 3 points each question)

Read the article from the Wall Street Journal at the end of the exam.

1 (3). How should the Chinese government’s plan to release frozen pork reserves impact the
price of pork? Draw a supply and demand chart from before the release. Then modify the
chart to show how the release impacts the chart.

2 (3). Use two supply and demand charts – one for Nanning and one for everywhere else –
to give one explanation consistent with the article for why the situation is more severe in
Nanning.
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3 (3). Give two pieces of evidence from the article about the elasticity of supply of pork.
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B. Short Answer Questions (40 points, 5 points each question)

1. Give two examples of things that could shift the supply of apples, and explain which way
each shifts the supply curve and why.

2. You are a person who really likes chocolate and somewhat likes bananas. Draw indiffer-
ence curves for these preferences, putting chocolate on the horizontal axis and bananas on
the vertical axis, and explain why your curves look the way you’ve drawn them.
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3. If your utility function is U = 5XY 8 are X and Y complements or substitutes? Explain.

4. Suppose that the equilibrium price of iron ore falls and the equilibrium quantity of iron
ore increases. Assume that only supply or demand changed. Which changed? Explain your
answer.
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5. The elasticity of supply of chocolate is 0.2. If price increases by 5%, how much more
chocolate will suppliers make?

6. Suppose that you observe that one of your favorite lunch spots recently decreased the
quantity of fresh vegetables in favor of rice in its lunch bowls (true story!). What can you
deduce changed in the relative price of rice and fresh vegetables?
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7. If your demand curve is Q = 600− 100P , how many peaches do you want when the price
is $6?

8. Define the diminishing marginal utility of consumption of a good, and describe it in action
for something you consume.
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C. Medium Answer Questions (51 points, points as noted on questions)

1 (19 points). Supply, Demand, Quotas and Cookies

The market for cookies is represented by the following supply and demand conditions:
QD = 1, 000 − 200P and QS = 400P − 200. The variable P is price per box of cookies
and Q measures boxes per day.

(a, 4) Solve for the equilibrium price and quantity and illustrate your answer with supply
and demand curves.

(b, 3) Suppose the government places a quota on cookies of 500 boxes per day. Solve for the
equilibrium price and quantity and then use supply and demand curves to illustrate your
answer.
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(c, 3) Calculate consumer surplus before and after the quota.

(d, 3) Calculate producer surplus before and after the quota.
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(e, 3) Calculate the deadweight loss from the quota.

(f, 3) Define deadweight loss and explain why a policymaker should care about it.
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2 (16 points). Consumer Optimization

Suppose that Seema’s budget constraint is 75 = 10X + 4Y .

(a, 3) Draw the budget constraint, labeling the axes and intercepts. Put X on the horizonal
axis and Y on the vertical axis.

(b, 3) What is the slope of this budget constraint?
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(c, 4) Can Seema afford 4 units of good X and 10 units of good Y ?

(d, 3) Draw an indifference curve on your picture from (a) (or repeat the picture) such that
Seema is consuming optimally. What is the MRS at this point?
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(e, 3) Now assume that for Seema, X and Y are perfect complements in a 1 to 1 ratio. Draw
a new picture and add the indifference curve showing Seema’s optimal consumption in this
case.
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3 (16). Taxation and Unhappiness

Suppose that the market for solar panels is characterized by demand, Q = 400 − 10P and
supply Q = P + 26.

(a, 3) What is initial equilibrium price and quantity? Draw a graph, showing this point, and
clearly labeling axes and the equilibrium.

(b, 3) Suppose that the government levies a tax of $22 per unit on solar panels, where the
statutory incidence falls on producers. Find the new relevant equation, and add the new
curve to your picture.
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(c, 3) What are the new equilibrium price and quantity?

(d, 3) What is the consumer burden? and the producer burden?
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(e, 4) Explain why one party is stuck paying more of the tax.
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Name: Blank – for extra work
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